1L rk 2,000
LI 1,500 -
=45 3,000 T
1L rk 2,500
R
o i
praees 1L rk 2,000
1L rk 2,500
e LI 1,500
LI 3,500
=iE =45 3,000
=45 4,500

JARE

li=[valuel,

print(li[1])
N

value?2

SR

li=[“key1”:valuel, “key2”:value2, “key3”:value3]

value2, value3]

BFEHEELTEZRYHT

print(li[“key2”])

N2

value?

F—zHEELTEZRYET



["{ERE", 400],

# ES—F—4% LR
dummy data = [ ["12“:55', 900],
[“{£7&", 400], ["{ERE", 300],
[“{8&”, 900], ["LLUE", 500],
[Hﬁ-l:ﬂ%”, 300], [HU-IEHH, 200]
[“IL@”, 5001, J f
[“IL@A”, 200]
] name, value = row

# T—REBEEE CHZEZIZHE — (*1)
users = {}
for row in dummy_data:
name, value = row # Z#/Z41715
¥ BEENNLELZS YR ~EFFTHHE — (*2)
i name not in users:
users[name] = []
¥ BEESEZF—IZEIZT—F FE7L — (*3) _ —_ N
users[name]. append (row) —= User(name)‘“append—éT—g%JEEE

#BECLICES — ()

for name, rows in users. items():
print (rows) S&k==—= ZEF/ AR T— X ZFHK7
t BEDHA BB E DT —
total = 0
for row in rows:

total += row[1]

print (name, total) ™77

RITRER
[ fERE . 400], [ 4ERE . 9001, [ 4&RE', 300]]
{£R& 1600

= ([ W@, 500], ["WumE", 200]]
o — |1J[E 700




A B C D E F

1 | 2020-11-06 0:00:00/E7& /5 =l 20 1500 30000
2 2020-11-11 0:00:00 FEEE J—=R 2 1500 3000
3 2020-11-20 0:00:00 EF§ /& R 8 950 7600
4 2020-11-21 0:00:00 FEEJE =i 10 1500 15000
5 2022-11-01 0:00:00 ABEE  IHhY 2 2500 5000
6 2022-11-02 0:00.00 BEJE Vo4 1 1500 1500
7 | 2022-11-03 0:00.00 CEJE  3IHh> 3 2500 7500
8 2022-11-150:00.00 DEE  IHhY 4 2500 10000
9 2022-11-16 0:00:00 AFEJE )3 2 1500 3000
10 2022-11-17 0:00:00 DE & TR 2 3000 6000
11 2022-11-22 0:00:00 AFE & TR 2 3000 6000
12 2020-11-03 0:00:00 EEJE 25 4 1000 4000
13 2020-11-05 0:00:00 FE§J& 25 1 1000 1000
14 2020-11-05 0:00:00 HEJE B 1 2000 2000
15 2020-11-07 0:00:00 EFEJE NG el 2 2000 4000
16 2020-11-15 0:00:00 FE§ & ING 1 1000 1000
17 | 2020-11-16 0:00:00 HEJE  E/E 4 1000 4000

I

&

o

! [ EEEICES /—\‘
[datetime. datetime (2020, 11, 6. 0. 0), | ER&/E | "%’ 20, 1500] 30000] [ERIE 45600
[datetime. datetime (2020, 11, 20. 0, 0)| 'EEg/E’| 'mkrg . 8. 950, [7600] =15
[datetime. datetime (2020, 11, 3, 0, 0), |'E@&E .| "=E&E . 4, 1000, [4000] ARSJE 14000

anji

[datetime. datetime (2020, 11, 7, 0, 0), |'EEE .| " KE+&v k', 2,]2000, 4000] B /s 10500
[datetime. datetime (2020, 11, 11, 0, 0), F&lE , "Vv—X', 2, 1500, 3000] CEEJE 19100
[datetime. datetime (2020, 11, 21, 0, 0), 'FEg[E", "&:m', 10, 1500, 15000] DEEE 34000
[datetime. datetime (2020, 11, 5, 0, 0), 'F@&IE, "E@& , 1, 1000, 1000] HBEE 6000
[datetime. datetime (2020, 11, 15, 0, 0), 'F@&[E", "/hE’, 1, 1000, 1000] GRSIE 33000
[datetime. datetime (2020, 11, 20, 0, 0), 'F@&[E , "/hE’, 5, 1000, 5000] .

[EJE 5700

2



import openpyx| as excel, json — . ,
#ﬁ(,ﬂﬂ;;if/pgfgf J_ ¥ BEE—ANGDT—2FE59 8 — (*9)

in_file="C:/Users/. . U def[calc_user (rows)}

out_file = "C:/Users/ ------- TR D L ( ‘Fotal =0 )
items = [] # ZZKDBIHH
# EGMEZTS — (*¥10)
for row in rows:
# BREZICUELIBELH 18 L TEREZBHDE TEM

. . date, _, item, cnt, price, _ =|row
strftime*V/ YT —_ gate s = date. strtime ( %m/%d’
H1 BIZE items. append ([date_s, item, cht, price])

fzR Zi AHPBEAE — (+12)

total += c¢cnt * price

# XA M — (*])
def split_list():
# Excel >— FDT—REBEEEIZHTE — (¥2)
users = |read_and_split(in_file) |
# PEEIAT—FFEHFTE — (*¥3)
result = {}
for name, rdws in users. items():
result[name] =|calc user (rows)

print (name, result[name][ total 1) # G RFHFERATET
# 77 1NINEREFRFE — () . return { items’ : items, 'to total}
with open(out_file, “wt”) as fp: &JSONFE R CTO7AMILERE

(result, fp) if _name_ == " main_":
split_list() # X4 MHEFEFT

# A LA CHE & [27 8 — () [datetime. datetime (2020, 11, 6, 0, 0), 'ERRE’, "%, 20, 1500, 30000]
def |read and split(in file)f [datetine, datetine (2020, 11, 20, 0, 0), 'ERiE, 'WRW', 8, 950, 7600] 5‘% ,?_ %:l:%
users = {} # gggi’/@gﬂé:@y/b [datetime. datetime (2020, 11, 3, 0, 0), 'EEEiE’, '=E/E , 4, 1000, 4000] T"I:I
N ; - [datetime. datetime (2020, 11, 7, 0, 0), "EFE , 'KZ+w k', 2, 2000, 4000]
# TvOFRHTo— FDETEHT — (%6) [datetine datetine(2020 11 11, 0, 0), 'FEEE . * V2", 2. 1500, 3000] EEIE 45600
sheet = excel. |oad workbook(in fi |e)_active [datetime. datetime (2020, 11, 21, 0, 0), 'F@E§/E , "#&@’, 10, 1500, 15000]
; T~ = [datetime. datetime (2020, 11, 5, 0, 0), 'FE&E ., =R, 1, 1000, 1000] FE5IE 40000
for row in sheet. iter_rows(): [datetime. datetime (2020, 11. 15, 0, 0), 'FR&E , /g, 1, 1000, 1000]
b o FD—FFERYEL TYX F-ZH — (%7) [datetime. datetime (2020, 11, 20. 0, 0), 'FE&E ., "/NS', 5 1000, 5000] ABEJE 14000
values = [col.value for col in rov] A—H—EOEF|(ZE>TLNS BiE/E 10500
name = values[1] # BELZZHYH T CAEE 19100
if name not in users: users[name] = [] =15
¥ F— % EBEEEIZHMNFE — (%8) HFEJE 6000
users[name]. append (values) GEJE 33000

return users l?éﬁlg 5700



